06277_MFG WiR4aHIF 57 , 242 | 5 B E R

7= miiEA

M

BRRENFRL,

FE , MEER PF31-DIN 7708 , B , MiZfo R4NE , K4
B,

I
RERTEHIFMHATE,
BEER

NEAERREZLENRELENEERFR,

,
o /
w--cv;ac:\l o
ol Qg T 1T 1M =

L3
06277-2080X10 EL 80 10H7 24 | 16 28 - - 218 x M6 x 40
06277-2080X12 EAL 80 12H7 24 | 16 28 - - 218 x M6 x 40
06277-2100X10 EMAL 100 10H7 26 | 17 33 - - 218 x M6 x 40
06277-2100X12 ELA 100 12H7 26 | 17 33 - - 218 x M6 x 40
06277-2125X12 EAL 125 12H7 31 |18 335 - - 221 x M8 x 50
06277-2125X14 EL 125 14H7 31 | 18 335 - - 221 x M8 x 50
06277-2160X14 EA 160 14H7 40 | 20 39 - - 226 x M10 x 80
06277-2160X16 EAL 160 16H7 40 | 20 39 - - 226 x M10 x 80
06277-2200X18 ELA 200 18H7 42 | 24 45 - - 226 x M10 x 80
06277-2200X20 EAL 200 20H7 42 | 24 45 - - 226 x M10 x 80
06277-2250X22 EL 250 22H7 48 | 28 51 - - 228 x M12 x 90
06277-2250X26 EA 250 26H7 48 | 28 51 - - 228 x M12 x 90
06277-3080X10 IR EMAL 80 10H7 24 | 16 28 3 11,4 218 x M6 x 40
06277-3080X12 IR ENM A 80 12H7 24 | 16 28 4 13,8 218 x M6 x 40
06277-3100X10 wI R EMAL 100 10H7 26 | 17 33 3 1,4 218 x M6 x 40

© norelem www.norelem.com




06277_MFG MiR4aHIF 57 , KM 4B | wEE HhE

D2 D3 L1 L3 B3 T

06277-3100X12 wIT A EMA 100 12H7 26 | 17 33 4 13,8 218 x M6 x 40
06277-3125X12 RN EMAL 125 12H7 31 |18 335 4 13,8 221 x M8 x 50
06277-3125X14 IR EMNAL 125 14H7 31 |18 335 5 16,3 221 x M8 x 50
06277-3160X14 IR EMA 160 14H7 40 | 20 39 5 16,3 226 x M10 x 80
06277-3160X16 IR EM A 160 16H7 40 | 20 39 5 18,3 226 x M10 x 80
06277-3200X18 W ENMA 200 18H7 42 | 24 45 6 20,8 226 x M10 x 80
06277-3200X20 IR EMA 200 20H7 42 | 24 45 6 22,8 226 x M10 x 80
06277-3250X22 IR EMNA 250 22H7 48 | 28 51 6 24,8 228 x M12 x 90
06277-3250X26 IR EMA 250 26H7 48 | 28 51 8 29,3 228 x M12 x 90

© norelem www.norelem.com




